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Pacnucanue ypokoB 4-x kiaccoB Ha 2024-2025 yuyeOHblii roa.
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Boporuukosa O.B. 107/1

Kaaranosa O.A. 125

Ilnoranuxkosa B.B. 106/2

Xomakosa J.B. 108/2

1 JIut. yTeHue Pyc.a3b1k Jlut. yreHue Jlut. yTeHne
= 2 Pyc.s13bIK Maremartuka Pyc.sa3p1x Pyc.sa3b1k
Z 3 MaremaTuka ®us.-pa MaremaTuka Maremaruka
QE 4 N30 Jlut. urenue N30 AHT.S3bIK
= S AHr.s3bIK (BH) AHT . S3BIK
=

1 AHT.A3bIK Pyc.sa3bIK JIut. urenue Pyc.a3b1k

2 Pyc.a3b1k AHT.A3BIK Pyc.s3bIK ®Pus.-pa
E 3 Pus.-pa JIut. yTeHne MaremaTuka JIut. yTeHue
& 4 Jlut. ureHne Maremartuka Oxkp.Mup Maremartuka
& 5 Maremaruka 130 ®us.-pa Okp.Mup

1 Jlut. ureHune JIut. uyreHune Pyc.sa3b1k Pyc.a3b1k

2 Pyc.s3bIK Pyc.s13bIK Maremaruka AHT.A3BIK

3 My3bika MaremaTrka AHTSI3BIK JIuT. yTeHue
% 4 Oxkp.mup Oxkp.mup Jlut. ureHue MaremaTuka

_6‘ 5 Maremarnka ®Dus.-pa TexHosmorus N30

1 Pyc.s13b1Kk AHTSI3BIK Pyc.s13b1K Pyc.s3b1k

2 AHT.SI3BIK JIut. ureHne Maremaruka Maremarnka

3 Marematuka Pyc.a3b1k Jlut. yTeHne Dus.-pa
3 4 Pus.-pa Maremartuka My3bika JInut. yTeHne
§ 5 Jlut. yTreHue TexHonorus Oxp.mMup
=

1 Pyc.a3b1k Pyc.s13bIK Dus.-pa My3bika

2 Oxp.mup My3bika Oxp.mup Pyc.s3bIK
< 3 TexHonorus Oxp.mup Pyc.a3b1k Texunonorus
= 4 OPKCD OPKCOD OPKCD OPKCD
E 5 : AHr.s13bIK (BH)
= 6
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Edumenko U.A. 203/3

Cuanna JI.B. 202/1

JlackoBa A.10. 211

3 1 Jlut. ureHne Pyc.sa3b1k JIut. yreHne
= 2 Pyc.a3b1k Maremartuka Pyc.s3bIK
;% 3 Maremartuka ®us.-pa Maremaruka
S 4 My3bika JIut. ureHue N30
= 5
1 Pyc.a3b1k Pyc.s3bIK ®wus.-pa
y 2 MaremaTuka MaremaTuka JIut. yrenue
= 3 AHT . A3bIK Jlut. urenue Pyc.a3b1k
? 4 JIut. urenue Oxp.mup AHT.SI3BIK
M 5 Oxp.mMup AHT.SI3bIK Maremartnka
1 Pyc.a3b1k JIut. ureHue JIut. urenue
2 Marematnka Pyc.sa3b1k Pyc.a3b1k
. 3 ®u3s.-pa MaremaTuka Maremartuka
i 4 JIut. yTreHue My3bika Oxkp.mup
O 5 TexHonorus N30 TexHonorus
1 Pyc.s13b1K Pyc.sa3b1k Pyc.sa3b1k
c 2 Marematuka MaremaTuka ®u3s.-pa
53 3 Oxp.mup Texuonorust JIuT. uTeHune
E 4 JIut. ureHne AHT.A3BIK Maremarnka
= 5 AHT.A3BIK Oxp.mup AHT . A3BIK
1 Pyc.sa3b1k ®us.-pa Oxp.mMup
- 2 ®us.-pa Jlut. yTeHue Pyc.a3b1k
= 3 130 Pyc.s13bIK My3bika
z 4 OPKCD OPKCD OPKCD
E 5 AHr.a3bIK (BH)




